

Electronics Components

Sr. No.	Name of Component	Quantity
1.	Project board for Logic Circuit	30
2.	Anshuman XPO-85 Plastic kits	30
3.	Power Supply for Anshuman XPO-85, XPO-51 Plastic kits(Chargers)	50
4.	Breadboards	64
5.	Keyboards for Anshuman kits	27
6.	Integrated 8051microcontroller development board Mfg: future chip	20
7.	USB Cables	19
8.	Sunrom Burner	10
9.	Extreme Burner	10
10.	Anshuman XPO - 51 Kits	20
11.	Digital Multimeters	30
12.	YUPS Robotics Kits	05
13	IOT Development KIT Components - BY ATS	10
14	IOT Development KITS + Components By VP	20
15	Milliammeter	.03
16	Resistance Box	09
17	Dual Output Regulated DC Power Supply	04
18	Wire cutter/stripper old+new	12
19	Nose plier old+new	12
20	9V Battery	20
21	Red wire bundle	100 yard
22	Black Wire bundle	100 yard
23	IC old + new	2872



vidyalankar.edu.in

Purchase Order

To.

GALA ELECTRONICS

20 KALPANA BLDG 1 ST FLOOR 357 LAMINGTON ROAD MUMBAI-07 - 400007

238545107

Contact Person :---

Please arrange to supply following to Vidyalankar School of Information Technology:

Furnish Dalivery Challan and Cash Memo / Invoice along with delivered goods.

PO Number

01108

PO Date

25-07-2019

Sr. No.	Item Name	Itom Remarks	Quantity	Unit Rate (₹)	Total Amount	Add Taxes
	K. I	2.1 MULTIPLEXER - IC 74157	50(Number)	10.00	500.00	18,00
2	10	8.1 MULTIPLEXER - IC 74151	50(Number)	12.00	600.00	18.00
3	IC	BCD TO DECIMAL DECODER - IC 7445 (PRINTED.)	50(Number)	15.00	750.00	18,00
4	IC	4 BIT RIPPLE COUNTER - IC 7493	50(Number)	45.00	2250.00	18:00
5	(C	DUAL JK FLIP FLOP - IC 7473	50(Number)	50.00	2500.00	18:00
E	it .	DECADE COUNTER - IC 7490	50(Number)	18.00	900.00	18.00
	IC .	ATMEL AT89552	30(Number)	65.00	1950,00	16.00
8	BATTERY 9V	SQUARE	20(Number)	13.00	260.00	18.00
			To	otal Amount :	9710.00#	# + Taris :
			Round	Off Amount	₹ 9710.00	STATE OF

PO Remarks : LOCATION : ETRX LAB

Parelle

*AMOUNT WILL BE PAID AS PER PURCHASE ORDER OR AT ACTUALS, WHICHEVER IS LESS.

Principal



Vidyalankar Dnyanapeeth Trust's

Vidyalankar School of Information Technology

Vidyalankar College Marg. Wadala (E), Mumba-400037

VSIT Wdyalankar School of Information Technology

25-07-2019

PO Number :

PO Date

vioyalankar.edu.in

Purchase Order

To.

GALA ELECTRONICS

20 KALPANA BLOG 1 ST FLOOR 357 LAMINGTON ROAD MUMBAI-07 400007

23854510 /

Contact Person :---

Please arrange to supply following to Vicyalankar School of Information Technology.

Furnish Delivery Challan and Cash Memo / Invoice along with delivered goods.

Sr. Item Name	Hem Remarks	Quantity	Unit Rate	Total Amount (₹)	Add Taxes (
1 WIRE (ELECTRONIC)	SINGLE STRAND WIRES (RED & BLACK = EACH BUNDLE 92 MTRS)	4(Bundles)	240.00	950.00	18.00
2 CUTTERSTRIPPER	CUTTER CUM WIRE STRIPPER	10 Number)	30.00	300.00	18.00
3 NOSEPYLER		10(Number)	90.00	900.00	18.00
4 IC	8.3 ENCODER - IC 7414873.8 DECODER - IC 74138 (50 EACH)	100 (Number)	12,00	1200.00	18.00
5 IG	D FLIP FLOP- IC 7474	50(Number)	10.00	500.00	18.00
6 IC	4 1 MULTIPLEXER - IC 74153	50(Number)	11.00	550.00	18.00
7 IC	1.4 DE-MULTIPLEXER - IC 74139	50(Number)	12.00	600.00	1 18.00
ë 10.2 T	NOT GATE IC 7400	50(Number)	06.00	300.00	18.00
		T. Je	otal Amount	5310.00#	4 - Touble as Above
		Round	Off Amount	₹ 5310.00	

PO Remarks LOCATION ETRX LAB

*AMOUNT WILL BE PAID AS PER PURCHASE ORDER OR AT ACTUALS, WHICHEVER IS LESS.

Principal



PO Number:

PO Date

Vidyalankar Dnyanapeeth Trust's Vidyalankar School of Information Technology Vidyalankar College Marg, Wadala (E), Mumbai-400037

VSIT | Vidyalankar School of Information Technology

00800

29-01-2018

vidyalankar.edu.in

Purchase Order

To.

APPLIED DIGITAL MICROSYSTEM PYTLTD D216 ANSA IND ESATE SAKI V RD MUMBAI 72 - 400072

022-28470817/

Contact Person :---

Please arrange to supply following to Vidyalankar School of Information Technology.

Furnish Delivery Challan and Cash Memo / Invoice along with delivered goods.

Sr. No.	Item Name	Item Remarks	Quantity	Unit Rate (₹)	Total Amount	Add Taxes (
	ACCESSORIES	TK-TRAFFIC LIGHT MODULE	10(Number)	1364.00	13640.00	18.00
2	ACCESSORIES	TK ADC - 8-8 BIT ADC MODULE (PARALLEL)	10(Number)	3511.00	35110.00	18.00
3	TRAINER KIT	TK-BASE - LOGIC ANALYSER HOSTED DEV BOARD (MP/MC TARGET)	_10(Number)	21468.00	214680.00	18.00
4	DAUGHTER BOARD	89V51RD2 DAUGHTER BOARD	10(Number)	5887.00	58870.00	18.00
5	DAUGHTER BOARD	ARM-7 LPC2148 DAUGHTER BOARD	10(Number)	8756.00	87560.00	18.00
6	STEPPER MOTOR	TK-SMI-STEPPER MOTOR WITH INTERFACE	10(Number)	2631.00	26310.00	18.00
7	DC MOTOR INTERFACE	TK-DC-DC MOTOR WITH OPTO SENSOR	10(Number)	2631,00	26310.00	18.00
8	ACCESSORIES	TKADC-8-8 BIT ADC MODULE (PARALLEL)	10(Number)	3511.00	35110.00	18.00
			To	tal Amount :	497590.00#	# + Taxas ex Abdes
			Round	Off Amount:	₹ 497590.00	22 31

PO Remarks :ETRX LAB : M.SC IT / S.Y.B.SC IT

*AMOUNT WILL BE PAID AS PER PURCHASE ORDER OR AT ACTUALS, WHICHEVER IS LESS.

Principal



Vidyalankar Dnyanapeeth Trust's
Vidyalankar School of Information Technology
Vidyalankar College Marg, Wadala (E), Mumbai-400037

vidyalankar.edu.in

VSIT Voyalankar Scroot

Purchase Order

To

VIDYALANKAR POLYTECHNIC

MUMBAL -

PO Number

06910

PO Date

10-08-2018

Contact Person :---

Please arrange to supply following to Vidyalankar School of Information Technology,

Furnish Delivery Challan and Cash Memo / Invoice along with delivered goods.

Sr. Item Name No.	Rem Remarks		Quantity	Unit Rate (₹)	Total Amount (₹)	Add Taxes (
1 IOT KIT	BASED ON RASPBERRY PI		20(Number)	20750.00	416000.00	
			To	otal Amount:	415000,00#	# - Taxes as Acces
			Round	Off Amount :	₹ 415000.00	
Amount in Words : Four Lakhs Fift	een Thousand rupees only	190			TANK IN	

PO Remarks:

*AMOUNT WILL BE PAID AS PER PURCHASE ORDER OR AT ACTUALS, WHICHEVER IS LESS.

Principal



Vidyalankar Dnyanapeeth Trust's
Vidyalankar School of Information Technology
Vidyalankar College Marg, Wadala (E), Mumbai-400037

VSIT Vidyalankar, School of Information Technology

PO Number :

PO Date

00476

30-12-2016

vidyalankar.edu.in

Purchase Order

To

VISION INDIA PRODUCTS

R.NO 2 1ST FLOOR ANAND BHUVAN PRINCESS STR. MARINE LINE(E)M-2 -

022-22059890 /

Contact Person :---

Please arrange to supply following to Vidyalankar School of Information Technology.

Furnish Delivery Challan and Cash Memo / Invoice along with delivered goods.

Sr.	Item Name	Hem Remarks	Quantity	Unit Rate	Total Amount	Add	Taxes (%)	
NO,					- W	VAT	ST	CST
1	MICROPROCESSOR KIT	XPO-8085(16X2) - ANSHUMAN	30(Number)	8800.00	264000.00	6.00	0,00	0.00
				otal Amount :		+ Taxes • Above		
			Round	Off Amount:	₹ 264000.00			

Amount in Words: Two Lakhs Sxty Four Thousand rupees only

PO Remarks:

*AMOUNT WILL BE PAID AS PER PURCHASE ORDER OR AT ACTUALS, WHICHEVER IS LESS.

Principal





Vidyalankar Dnyanapeeth Trust's
Vidyalankar School of Information Technology
Vidyalankar College Marg, Wadala (E), Mumbai 400037

VSIT Vidyularikar School of Information Technology

vidyalankar edu.in

Purchase Order

To.

GUDDY ELECTRONICS
PROCTOR ROAD, MUMBAI -

PO Number:

00431

PO Date

20-09-2016

Contact Person :---

Please arrange to supply following to Vidyalankar School of Information Technology.

Furnish Delivery Challan and Cash Memo / Invoice along with delivered goods.

Sr. No.	Item Name	item Remarks	Quantity	Unit Rate (₹)	Total Amount (₹)	Add	Taxes (%)
144						VAT	ST	CST
1	IG .	74LS268	200 (Number)	27.00	5400.00	0.00	0.00	0.00
2	IC	IC-74151	100 (Number)	12.00	1200.00	0.00	0.00	0.00
EGIR	1C	IC-74LS138	100 (Number)	10.00	1000.00	0.00	0.00	0.00
*	IC	IC-7473	100 (Number)	12.00	1200.00	0.00	0.00	0.00
5	IC .	IC-74LS194	100 (Number)	12.00	1200.00	0.00	0.00	0.00
8	RESISTOR	3300HMS	200 (Number)	00.25	50.00	0.00	0.00	0.00
17	BREAD BOARD		50(Number)	75.00	3750.00	0.00	0.00	0.00
8	LED	REDIGREENBLUE	200 (Number)	01.00	200.00	0.00	0.00	0.00
			1	otal Amount :	14000.00# #*	Taxes		
			Round	Off Amount:	₹ 14000.00			
Amo	ount in Words :Fourteen Thousa	and rupees only					T TOTAL	

PO Remarks : DIGITAL ELECTRONICS LAB

"AMOUNT WILL BE PAID AS PER PURCHASE ORDER OR AT ACTUALS, WHICHEVER IS LESS.

Principal



VIDYALANKAR DNYANPEETH TRUST 'S VIDYALANKAR SCHOOL OF INFORMATION TECHNOLOGY WADALA MUMBAI 400037

Purchase Order

FUTURE CHIP TECHNOLOGIES

NR GIRNAR BLDG MUMBAI PUNE HW AY, KHOPOLI
9890141705

16-Nov-20 3 PO No 00245

Please arrange to supply following to VIDYALANKAR SCHOOL OF INFORMATION.
TECHNOLOGY

Furnish Delivery Challan and Cash Memo / Invoice along with delivered goods.

Sr Products	Description	Quantity	Unit Price	Total Price	Service Tax	Octro	Vat Oto-
1 TRAINER KIT	Integrated 8051	10 Number	15200.00	152000 00	0%	0%	5% 0%
				152000 00 [#]	(+1	ixes a	s above)

Principal

For any queries, please contact on 24161126 Ext 9501



(Extra Copy)

WADALA, MUMBAI 400037

FUTURE CHIP TECHNOLOGIES NR GIRNAR BEDG MUMBALPUNE HW AY, KHOPOLI Bill No : 2

Products

Issued To Quantity

DS/Con No.

TRAINER SIT (PO NO -245) Integrated 8051

ETRX 10 Number

VSIT/01359/ETRX LAB/00220 700047

VSIT/01368/ETRX LAB/00220 /00056

Bill amount: Rs. 159600

Principal

For any queries, please contact on 24161126 Ext 9501



(Extra Copy)

TAX INVOICE Invoice No.-23[13-14]

Future Chip Technologies

13/293, Ram Society, Phulenagar, Behind R.T.O. Office, Alandi Road,

Pune - 411 006 Cell - 9890141705 Buyer

Order No. 00245

Date:-11/01/2014

Date: - 16/11/2013 Dispatched through - By Hand

The Principal

/idyalankar School of Informatio

Technology Wadala(E)

Trainer Kit 1 Integrated 8051 uproce	ssor development Board	Qty	Rate	AI
	-00/0	10	15,200/-	1,52
265 10				
TIN 27450801260 V w.e.f. 21.11.20 NO. PMC-LBT-017-0000272	Six Hundred poly	Tota		7,600/

LBT NO. PMC-LBT-017-0000377

"I/We hereby certify that my/our Registration Certificate under Manarashtra Value Added Tax. Act.2002 is force on date on which the sale of goods specified in this Tax Invoice is made by me/us and that the transaction of sale covered by this Tax Invoice has been effected by me/us & it shall be accounted for in the turnover of sales while filing of return & due tax if any payable on the sale has been paid or shall be paid." E.& O.E. Subject to Pune Jurisidiction

For Future Chip Technologies

Authorised Signatory



ADALA, MUMBAI 400037

VSIT Véyplankar Scrace de normation Technology

Purchase Order

To:
VISION INDIA PRODUCTS

2 ANAND BHUVAN BABUGENU ROAD PRINCESS STREET MARINE LINE-E
22059890/981919

16-Nov-2013 PO No.: 00243

Please arrange to supply following to VIDYALANKAR SCHOOL OF INFORMATION TECHNOLOGY.

Furnish Delivery Challan and Cash Memo / Invoice along with delivered goods.

				Unit			Taxes (kes (%)	
Sr.	Products	Products Description		Price	Total Price	Service Tax	Octroi	Vat	Other
1	TRAINER KIT	8051 XPO classic kit with 7seg display	10 Number	5310.00	53100.00	0%	0%	5%	0%
2	TRAINER KIT	8051 XPO with 16x2 display	10 Number	9085.00		0%	0%	5%	0%
			Total	Amount:	143950.00"	(# +T	axes as	e ah	ovel
	Round off Amount :			143950.00		axes a	3 00	046)	

134890.00

-Principal

For any queries, please contact on 24161126 Ext 9301 / 9501.



(Vendor's Copy)

Vidyalankar Educational Campus, Wadala (E), Mumbai - 400 037. Telefax: 2416 1126

VIDYALANKAR SCHOOL OF INFORAMTION TECHNOLOGY WADALA, MUMBAI 400037

VISION INDIA PRODUCTS
2 ANAND BHUVAN BABUGENU ROAD PRINCESS STREET
MARINE LINE-E
22059890/981919

Bill No. : 2394

Products	Issued 1	o Quantity	Total Price	DS/Con No	Balan Stock
TRAINER KIT (PO NO -243) XPO-8085	ETRX LAB	10 Number	53100	VSIT/01327/ETRX LAB/00220 /00027 to VSIT/01336/ETRX LAB/00220 /00036	
TRAINER KIT (PO NO243) XPO-8051	ETRX LAB	10 Number	81770	VSIT/01337/ETRX LAB/00220 /00037 to VSIT/01346/ETRX LAB/00220 /00046	

Bill amount : Rs. 141613.5

